Section 9.6

Graphing Quadratic Functions (Parabolas)
The standard form for graphing Quadratic function (Parabola) is
y=f(x)=alx—h)*+k

and its coordinate of vertex is (n,k)
Note: this is also Horizontal Shift: » and Vertical Shift: &

If >0, then the parabola opens upward.

If <0, then the parabola opens downward.

converting the quadratic equation f(x)=ax*+bx+c

to Standard form f(x)=a(x—h)*+k

Step 1: Find r=x==2

2a

Step 2: Calculate k= f(k)=a(h)*+b(h)+c. Now we have the vertex: (h,k)

Step 3: Write in Standard Form using » and k values found in steps 1 and 2 plus «
value.
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